“
P2 R

f

H

C

|
/2
/0/ !

| |
/M/ //Z}/
}if/}’é{/ !}1//5_\/?_

/*/ [/, i/z

3 { /9\12

: ;/,%2/

,Q\ ]

7>7\Y/ (} }:l/

) 2; Q

) a ;

[

/%I
5
%23/
S%%
| zil/l\
\KL,\/ / 
| |
| ; (

(T/

;-




/)

B

BIE

5
L

/

4+
o

/
| <

[+ ]

2 |

e

(L]

G
S o

O
O

i
O
O
O

O
O

’2,0/7 orible opjeﬂ
P, =

P =), M=) = P(DGDGG) =

[ he 5{\/%55}”‘5

,H~ﬂ)"f<00(ﬂ“1) -
A T

(/QQ/Q’ cﬂ’ Ve

2l 3)
[20

GOVJ

TXD X = 2x |
(2 !

efc



- -
J’fy(y)dy= { = c= 1/8 and 50 fr(y) = 2’—-2—-,0<y<oo

flx) = éf(yl —xMedy
&

-y

= —ie’*’d(lﬂxb upon using —-f yle? =yl +2ye7 +2e

“* _67( 2 fl) 60
U (b)fx(x)—7{(x +2 dy—7(2x +x)

15
© P{X> Y} = -”(x +—~dyde—-§-6~

(@) P{Y> 1/2‘X< 12} =P{Y>1/2,X< 1R2}/P{X < 1/2}

2 12

NG -2y

_ 120
- /2

j. (2x* + x)dx
0

[3: = i /}
M a/*n»\raL l‘ym& .[- ,Meml uAiﬁ)ﬂm "A s 45\7
- {\ [ N , /
N e, v Lo, 4o ]

wh
£o Tonl sy oF /(M’u)
[
. 3o X {o " Eb{fqu CO/ (G\)/
R O elseules




PChrsk b arve wals €5 /‘Mn/)/‘f)
=P (n-w) 4—5')
(-5 eMvis
Shiled ae. o5 /ag;m;,; pege

a—
—

20 X 4o
- [0 x30o ) i
30 X b0 m" é
F(M“” aro s ﬁ@/“) = [)Ct/léw)
(W1

ot A=

r

- SL&&Q) Qfé«, &LO\}‘Q-
30 * 6o

_ L
2 -



C’ly ;— since each of the 3 points is equally likely to be the middle one.

. texl 1
/19, J'Ojezdydij.oaix—l
1]
(a) L-;dx=—1n(y),0<y<1
(b) f:-i—dyzl, 0<y<l1

1
(©) 5

(d) Integrating by parts gives that
i 1
[,y m)dy=-1- [ yn(y) - y)dy

yielding the result
B = = yin(y)dy = /4
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/ 20. (a) yes: fx(x) =xe ", fly) =€, 0 <x<o0,0<y<oo
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(b) 10: f(x) = J'f(x,y)dy=2(1—x),0<x<1

¥
i) = [ frydx=2y,0<y<1
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[ 22 / (a) No, since the joint density does not factor.
1\/ N
(b) fxlx) = Io(x+ ydy =x+1/2, 0<x< 1.
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FAa) = P{X < aY}
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fha)= [ fy@yyf, (y)dy
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(b) FZa) = P{XY<a}
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fa) = [ fy(al ) )y
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If X is exponential with rate A and Y is exponential with rate p then (a) and (b) reduce to
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(b) Fa) = | ﬂe‘“’%w“"’dy
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{ 9. J P{mln(Xls-"9Xn)>t}=P{X1>t,...,Xn>t}
NI =e¥ . et =™

thus showing that the minimum is exponential with rate nA.



